FED. ROAD | FISCAL
PHOTOELECTRIC | DIST. NO. PROJ. NO. | "ypaR

CONTROLLER ——————\ HAWAII i 93A-02-95 - 1996
O .

SINGLE PHASE TRANSFORMER

120,240V —

3
-

3¢

CONDUCTORS AND A : |
o Al oo \l ” | 35" CLASS 3 WOOD POLE
] 312 THW, 1/2° PVC DETAIL B, EXCEPT SERVICE FROM WEATHERHEAD
el | 70 CONTACTOR | / INSTEAD OF AERIAL CABLE
FUSTING. JP N 240V, 3 WIRE SERVICE AT |
/
- 23 AERIAL CABLE 342 PREASSEMBLED | o
NEW J5 FEET WOOD POLE \ RINJ~INSULATED, INCLUDING COPPER '\ S SPLIT BOLT CONNECTION
1004, 4 JAW., METER SOCKET. ¢ CLAD MESSENGER (COPPER CLAD \ 'S AND CROUND
| MESSENGER CONNECTED TO N1
TERMINATE NEUTRAL AT METER T~
GROUNDED CONDUCTOR) WEATHER HEAD - 70 JP ACROSS ROADWAY
SOCKET AND BOND TO GRD. /
HECO APPROVAL REQUIRED. _,VW%T D FOR CONNECTION TO
(NEVA' 3P ENCL) L CABLE HECO SERVICE. AT JP
| 2 XHHW & 342 PREASSEMBLED | | Weamy COLED FOR
& 242 XHHW & 146 XHHW GRD. 1#6 XHHW GRD. NI~ INSULATED AT SOLED LOR
PHOTOELECTRIC 604 2P (CONNECT GRD."TO COPPER CLAD CABLE WITH o
CONTROL MTD. ON CKT. BKR. MESSENGER), 1 1/4” RSC | | . COPPERCLAD ’ |
70P OF POLE Sasy | | COPPERCLLA . SHALL TERMINATE AERIAL
| N\ | S CABLE AT JP AND
412 THW W S| & | COORDINATE WITH HECO
@) LIGHTING CONTACTOR, 60 AMP, 4P, | S| P FOR GUYS
304 FUSES © NEMA 4X—STAINLESS STEEL WITH - N
T~ < 1 PROVISIONS FOR PAD LOCKING 2" PVC f S 3
D T BOND TO MESSENGER AND ALL 3 Q
BOND TO 146 XHHW " INCLOSURES METER SOCKET (LOCATION N <
ON POLE FACING COMING 2
?nf,ﬁ'”)’o FUSE : 5 342 XHHW & 146 XHHW GRD., 2" RSC TRAFFIC) —\ S
(TTTTITTTINI T P LIGHTING CONTACTOR 1 S
| ~ | WITH FUSES |
| | »
| | 1 — 2" RSC, 342 XHHW ©
| i / | EXISTING
E 3 & 146 XHHW GRD. . ROADWA),_\
| ]
| ; COMPACTED FILL “
UNDERGROUND PORTION — SEE LAYOUT FOR EXACT PULLBOX Q 6” WIDE RING, FILLED o
242 XHHW & 146 XHHW GRD. L PULLBOX NUMBER OF LIGHTS ON & TAMPED IN 12" LAYERS
IN 2" PVC CONDUIT FOR EACH SIDE OF 35 FT. /8 x 100" \ |
TIRE LENGTH - ,
ENTIRE LENGTH OF CIRCUIT Woob POLE COPPERWELD “__ 2" PVC, 242 XHHW & 1#6 XHHW GRD.
GROUND ROD ' | 70 STREET LIGHTS (TYP. FOR BOTH
DIRECTIONS)
[YPICAL ONE—-LINE DIAGRAM WOOD POLE FOR HECO SERVICE

BRACKET ARM MOUNTING
PLATE WITH 5/8° MACHINE ONE—LINE DIAGRAM LEGEND:

BOLT, NUI, CURVED SQ.

LUMINAIRE WITH 250 WATT
HIGH PRESSURE SODIUM

LAMP WITH INTEGRAL WASHER, AND 2—1/2" LAG (3 STREET LIGHT AND POLE NUMBER
2-1/C #10 THW, 600V- BALLAST FATED A SCREWS | | DRAWING REVIEW:
) ¢ \ ®! FOR 240,480V OPERATION S ——— | DRAWING REVIEW:
‘ é} ' Fagjlities Only
; . gk==r ¢ OF BRACKET ARM Date 5/ %/7 %_7/‘;1%&’\/
"McGRAW-EDISON TRON” IN-LINE SEPARABLE { MOUNTING PLATE CONNECTION | Dievibation Eneeing Departmont
FUSED CABLE CONNECTOR @ / CONNECTOR, UNFUSED B — Hawaiian Electric Company, Inc. z
KIT WITH 3A FUSE S, WEATHER HEAD ™~ u,L, CONNECTION TO HECO TRANSFORMER HECO's review of these drawings shall in no way refieve éz
\% T - STREET LIGHT BRACKET ARM SECONDARY BY HECO the n%uséﬁm&; Q;'Z‘mcé‘?’f”éf{i‘izf‘ﬁfﬁ"ﬁﬁ& anyone +
« 2“" 7/0 7%8 XHHVV, 600V : | CONNECT TO POLE BASE : | W/R/NG ENTRANCE zsoe;‘agf:deiggig&ﬁsa;g&tmmeﬁals and any liability %g
1L J ' 1 erounD ROD £
[ j 1 —_— — Zg
N W A i R Y} o \__
1% 240v | | | | CABLE CONNECTOR KIT _ =5
lal!1) | Ll o7 IN-LINE TYPE WITH e or s
ARELN | | 3 AMP FUSE DEPARTMENT OF TRANSPORTATION
. 2 £ 8 é 2 s BRGNS | ‘ PROFESSIONAL HIGHWAYS DIVISION
T 15 5e. (e = w b HIGHWAY LIGHTING DETAILS
R =) B oo . . ’ ) A,
e - & ONE—LINE DIAGRAM
21 STREET LIGHT MAST ARM_MOUNITING IS WORK WAS PREPARED BY ME FARRINGTION HIGHWAY LIGHTING IMPROVEMENTS
g™ APPROVED: OR UNDER WY SUPERVISION. AND MAIPELA ST. 7O LUALE] PIACE
' ( CONSTRUCTION OF THIS PROJECT —— =t e ———
WILL BE UNDER MY OBSERVAT!OI\L PROJECT NO. 93A — 02 - 95
[YPICAL LUMINAIRE CONNECTION DIAGRAM SIREET LIGHT ON WOOD POLE DETAIL B HAWATAN ELECTRIC COMPANY, WV Q/ SCALE: As Noted May, 1996

~ SHEET No. 10 OF 13 SHEETS

10




FISCAL | SHEET | TOTAL

FED. ROAD

DIST. NO. PROJ. NO.
NOJES: t O HAWAII : 93A-02-95
| WATERPROOF FUSED CABLE - . — V
1. ALL STEEL SHAFTS, PLATES, MAST ARMS, BOLTS, SCREWS, ~ CONNECTOR KIT W/FUSES \ NOTE.
NUTS AND WASHERS TO BE GALV. AFTER FABRICATION OR E’: PROVIDE 24" SIACK BUSHING OPENING AND GROUND ROD LENGTH AS SHOWN
MODIFICATION. 3 CABLE CONNECTION TO BE AT LEVEL EASILY | ON PLAN
o ff %f,%féf FOR MAINTENANCE THRU » BRACKET ARM
2. 4" X 6 1/2" HANDHOLE REINFORCED W/#3 GA. RING 1 1/2” = " . |
WIDE WELDED TO OUTSIDE OF POLE COVER OF 10 GA. PLATE § 47 X 6 172" HANDHOLE | %%Gg;v
LOCATE 90 DEGREES OF MAST ARM UNLESS SHOWN OTHERWISE. S GROUND LUG S/IP BASE MOUNTING. SEE SHT. NO. \
. FOR DETAILS ’ | i 250 WATTS
3. ROUND TAPERED STEEL TUBE W/MAX. TAPER OF 0.15" /FOOT. é Z’Z&ACS}_T/gEZ-Ua% / HPS [ UMINAIRE
4. NO. 11 GAGE SHEET STEEL OF WELDABLE GRADE ACCEPTABLE & INSTALLING CABLES ‘ s FINISH GRADE
IF STEEL AFTER FABRICATION HAS A MIN. YIELD STRENGTH OF | L e
40,000 PSI. | RS (7 A . gf;ﬁ 12‘4/(/%?6:2)/? AS/;TEEL
R | L Y
IN-LINE SEPARABLE S o 7\ 4 — CONTINUOUS TAPER ROUND
. CONNECTOR, UNFUSED v . Ak ” " GALVANIZED STEEL POLE =
- ) NiE 7/ X 40°L HS. S
Yamts’ ANCHOR BAR (3 EACH) . |
#10 THW  ——<— - POLE SHAFT S . - |- S|
| L 5 = ' R CONC. FOUNDATION, CONC. N
WATERPROOF FUSED CONNECTOR 5 | SYRENS 2 PYC SCH. 80 J 1y | a MIXTURE TO HAVE A- MINIMUM ¢ OF POLE RIS
WITH 3A FUSE, TYPICAL 1 ~——— GROUNDING STUD Wl B : A N COMPRESSIVE STRENGTH OF / <
Y Q& CONDUIT ELBOW gl MR 2500 P.S.l, AT 28 DAYS ) S
#8 XHHW ——<t— " S A
| S R N py o
MAIN GND. ROD |
#8 XHHW — T GROUND ROD § @ = | = | | LIGHT STANDARD
WATERTIGHT = S| = e V- a (6)#5 REBAR | |.D. TAG, SEFE DET.
SPLICE, TYPICAL ——~__ 242 XHHW Sl T | BELOW -~ FDGE OF -—— EDGE OF
= ’ : ca e ) v oA AN ROADWAY
2 ] ey S (I s #3 TIES @ 10" O.C. BN SHOULDER ,
SECONDARY fe B (Iy? | L e | |
CABLES L A A 5/8" ROUND X 10'~0" FINISH CRADE B SHOULDER ROADWAY __
~ C 2 y OPPERWELD GROUNDING A DISTANCE VARIES T
PULLBOX / / | | A PR ROD HANDHOLE ——21+—q
) (Y ) '
( ( ~_
EXOTHERMIC GRD. . #6 XHHW GRD. WIRE T | R e KR
CONNECTION TYP. 2" DIA.
M /N . 32 =2
/ - CONCRETE BASE FOR (TYPE "B”)
WIRING CONNECTION DIAGRAM CONCRETE BASE AND POLE MOUNTING DETA/L - PULLBoX— L BASE MOUNTING
29 =12 ,
SLIP _BASE SLIP_BASE (TYPE "B”) TYPICAL LIGHT STANDARD INSTALLATION
| SLIP BASE (TYPE "B”)
» MAST ARM
. 3 1/4 _ | FGEND | LUMINAIRE
o i ) S CONCRETE BARRIER & /‘
Ay 23 1A A— METER NUMBER RAILING SUPPORT ~ _ _ _c%
‘ , i B— LIGHT POLE NUMBER FRA/L/N(,‘ N— <? -
. A - B g C— LAMP DATA, N FOR H.P.S. — —
~| ’77 p D @ D— REFRACTOR DATA >, { DIRECTION SLIP BASE PLATE
| | . | OF ADJACENT WELDED TO THE POLE
[ e T 0P OF DECK—~q \ { TRAFFIC )
5/32°0 HOLE— b Py il |
e | WORE THAN 10" INTERVALS. LUMINAIRE SLIP_BASE ORIENTATION L
- = LB MORE THAN 10" INTERVALS. | | '
7. TAG SHALL BE MADE FROM 3 PLY BLACK—WHITE—BLACK | : \ | =
LAMINATED PLASTIC. | o _ T =
| 4 SO 2" PVC COATED RSC
2. ATTACH TO STEEL POLE WITH NO. 7 CADMIUM PLATED | - \ STATE OF HAWAS
DRIVE SCREWS NO. 29 DRILL HOLES IN POLE. | , g DEPARTMENT OF TRANSPORTATION
L __________ __j \ . , , | [ PROFESSIONAL

ENGINEER
"\ No. 1887-E

3. ATIACHED ACCORDING TO POLE MANUFACTURER’S

RECOMMENDATION. | |
@ ABUIMENT JOINT
4. LETTERS, NO. 5 REDUCTION 1/64 " ENGRAVED.

.
> A
;..mwg

2
mal
A%E
H
285
FROJ

HIGHWAY LIGHTING
SLIP BASE POLE

2
:

a
8
£
3
R
4
&
5
n
e
&
2
2

, . CONDUIT_MOUNTING AT MAIPALAOA BRIDGE + * e o e s o e | PARRNGTTL HGHWAL L CHTZG, IMPROTEENTS
= HIGHWAY LIGHT ID_TAG DETAIL (SIMILAR _DETAIL_ @ OPPOSITE_END) ‘ VLS G o e PROJECT NO. 934 ~ 02 ~ 95
| & T SCALE: None | May, 1996

_SHEET No. 1 OF 13 SHEETS




DATE

DRAWN BY

TRACED BY.__.
DESIGNED BY.
QUANTITIES BY
CHECKED BY

2 3/4”

1 3/8 1.3/8
. 2" 1/4 "x0'~-2 3/4 "
N A./.s.//mra 4
- - COLD DRAWN P WASHER
15/16"0 HOLE —=

PLATE WASHER

ox GRIND
L,J%’(,)E WASHER RAD=1 1/2 ” NOTE: TOP SLIP BASE P
== 533 RAD=11/ NOT SHOWN
|5RES
9 4 I GR/ND
DETAIL "A ﬂ)\ ¢ POLE .
TRUSS BRACKET [ / ” N
RN ATUCHMENT \—7 = “4 / o =
o /4" N A4 7 o
=" ™ | A
N1 P Z] Vi =
¥ IHEY
-~ -
¢ 7/8°0 H.S. BOLT
VIEW "E-E"
CAST OPTION
¢ POLE
g%Z’_O% SLIP _\ \ 57167 ] {7/8” MIN. CL.
N4 7 7T S
D ! A ! i ™
N P NN // MNANRAEAN "‘
¢ 7/8°0 S. BOLT—/ | \ — ~
1" ANCHOR E?—X S
P A v v
5/16 CONC.
FOUNDATION
NOTE: TOP SLIP BASE P
NOT SHOWN
VIEW “E—F"
_— WELDED OPTION
|
28 o 7T TOP SLIP BASE
KEEPER PP ““//:i//////;/V ézzgzp%§ SLIP
| TI\
7/8" H.S. BOLT
T >

SECIION G-G

PLAN

ORIGINAL { SURVEY PLOTTED. BY

NOTE BOOK

No.

O
N1 /g

U

| /‘\GD o
| 30‘&% / ) 1"6 HOLE
,

73

DETAIL 5" DETAIL "F”

KEEPER PLATE

e e — — — — — — — ]

— f?
! |

7 4”X7”
ACK UP

WELD

[OP

\\__./liI .

SLIP _BASE PLATE

©,

RING TACK _

\L TOP SLIP
N7 BASE P

TOP SLIP BASE R
50 HOLE

¢ POLE

AXIS OF
LUMINAIRE

1’0 HOLE

¢ POLE

11 3/4"

| - - POLE WALL
’ 7 81’
5/16” /

1-8 1/4” |
ARM —— VIEW "C-=C"
[OP SLIP _BASE PLATE
o 8. 30>
ROARN - XU
© Ee ® \ _«

L 60 HOLE
IN ANCHOR

\ \ / L\ 575 HOLE
. A A/ IN BOTTOM
30 Ny f/ SLIP BASE PL.
4 BOTTOM SLIP
\i\ BASE P

)

P

[RIM ANCHOR BOLT

WASHER AS SHOWN

AXIS OF
3 5 0\,/ LUMINAIRE ARM
" DIRECTION OF TRAFFIC
c}§ y\/ PLAN-BOTTOM PLATES |
L PLATE WASHER
—3-7/8"0 H.S. HEX HD
” L PoLE BOLT, NUT, FLAT WASHER
1" TOP SLIP & 2 P WASHERS FOR SLIP
BASE 2 - BASE BOLT ASSENBLY.
C = | FIN. GR.
11/4 " BOTTOM\ . N
SLIP BASE P Tl N - 3,
} i i l/ i \‘.‘\
1” ANCHOR P N | ) |
o VY, N
/ T 1 T /I | \;1 / | ;Hl%
v | v v N e:b
v — PLATE WASHER
" cone — FLAT WASHER
FOUNDATION~, | | T 7/8%x40” HS
ANCHOR BOLTS
W = \\ =

BOTTOM SLIP BASE PLATE

SLIP _BASE DETAIL

ONORORORONENS

©

S

® ® @ @

THIS WORK WAS PREPARED BY ME
OR UNDER MY SUPERVISION AND
CONSTRUCTION OF THIS PROJECT
WILL BE UNDER MY OBSERVATION

FED. ROAD
DIST. NO.

STATE

PROJ. NO.

FISCAL
YEAR

SHEET
NO.

TOTAL
SHEETS

HAWAI

HAW.

93A-02-95

1996

12

3

NOTES

All steel shafts, R’s, mast arms, bolts, SCrews
nuts & washers to be galv. after fab. or modi—

fication.

B’s to conform to ASTM A-J36.

Cast option to conform to ASTM A—486 CL.90.

Torque 7/8°@ H.S. slip base B bolts to 84 ft. Ibs.

7/8°0 H.S. anchor bolts, wrench tighten—torque

requirements waived.

Fabricators electing larger than min arm
diameters must adjust details as required to
permit solid seating of cap screws.

of torque requirements for H.S. bolts, cap
screws shall be t/?hz‘ened by the turn of

nut method 1/6
tion.
IR
10 g

In lieu

urn from snug tight condi—
No washer will be required.

6 1/2" handhole reinforced w/#3 ga. ring
wide welded to outside of pole cover of
a. R Locate 90 degrees to mast arm

unless shown otherwise.

28 ga. keeper B, ASIM A 526, 125 commercial.
Place on top of middle flat washer.

Plate washer

3—-7/8@ H.S. bolts, thread 6° & galv. 107,

w/hex, hd, nut, leveling nut & washer.

Anchor R’s may be retained w/hex. hd. nut as
shown or as an alt. det. w/5/16" fillet welds all
around or formed heads.

Round tapered steel tube w/max. taper of

0.15" /foot.

No. 11 gage sheet steel of weldable grade accept—
able If after fabrication steel has a min.

yield strength of 40,000 p.s.I.

(K.T.JN:\FAR—HWY\ DOT\FAR—LTD2

! May 9, 1996 10:03AM

LICENSED
PROFESSIONAL

ENGINEER
No. 1887-E

STATE OF HAWAI

HIGHWAYS DIVISION

HIGHWAY LIGHTING
- SLIP BASE POLE

DEPARTMENT OF TRANSPORTATION

FARRINGTON HIGHWAY LIGHTING IMPROVEMENIS |

MAIPELA ST. 1O LUALE] PIACE

PROJECT NO. 934 — 02 — 95
SCALE: None

May, 1996

SHEET No. 12 OF 13 SHEETS

12




DATE

TRACED BY

DRAWN BY

DESIGNED BY ,
QUANTITIES BY
| CHECKED BY

NOTES:

1. ALL CONDUIT SHALL BE "PVC" SCHED. 80 FOR NUT COVER POLE SHAFT
DIRECT BURIED OR CONCRETE ENCASEMENT, U.O.N. HEX BOLT W/ ¥
NUT & WASHERS T~ 2 #12 RHW COPPER
2. BACKFILL OVER CONCRETE DUCT SECTIONS SHALL WATERPROOF |
BE TYPE "A CONNECTOR KIT — gg%p L ggg W%g BC,
3. BACKFILL OVER DIRECT BURIED CONDUITS SHALL BE CAST ALUM. TRANS. BASE / CONDUIT & POLE
TYPE "B WITH DOOR OPENING —__ | \J
2" MIN. GROUT FINISH
4. IF THE NORMAL MATERIAL IN THE BOTTOM OF A SETER PLUMB , - CRADE
TRENCH CONTAINING A DIRECT BURIAL CONDUIT IS | ? = *
NOT TYPE "B” AN ADDITIONAL 3" SHALL BE W] ) - )
EXCAVATED AND TYPE "B" BACKFILL PROVIDED. S O ORED Lf?\=¥ = =t | _—(4) 1"0 x 40" ANCHOR BOLTS
[ (,) L~
5. CONCRETE FOR DUCTS TO BE 2500 P.S.. IN 28 DAYS | #6 BC CRD. WIRE g
' i ' S INSTALLED IN
1/2” SLEFVE——
BACKF//_Z_ TYPES ARE ~ 2" PVC SCH. 80
. < b
o & CONDUIT . — CONCRETE FOUNDATION,
IYPE "A™:  BEACH SAND, £ARTH, OR EARTH AND Q CONCRETE MIXTURE TO HAVE
GRAVEL. IF EARTH AND GRAVEL USED, THE a % A MINIMUM COMPRESSIVE
MAXIMUM ROCK SIZE SHALL BE 1”7 AND S| B 1 STRENGTH OF 2500 P.S.|. AT
THE MIXTURE SHALL CONTAIN NOT MORE =N = | = 28 DAYS (CLASS "B")
THAN 50% BY VOLUME OF ROCK PARTICLES. S 2" ¢l (TP) |— |-
Py O %D % g P
GRAVEL. IF EARTH AND GRAVEL USED, MIXTURE S| I @ 10" 0c—|—
MUST PASS A 1/2 ” MESH SCREEN AND — R L
CONTAIN NOT MORE THAN 20% BY - > !
VOLUME OF ROCK PARTICLES. | "y
/( <+ 5/8 "~ x 10°=0"
FINISHED GRADE |- T COPPERWELD GRD. ROD
TYPE "A” ’ T L
AANNY e O 2
COMPACTED =2 22" MIN.
BACKFILL — & PROVIDE ADDITIONAL — ELEVATION _—2" PVC_SCH. 80
— . 5/8 X 10-0" | _ CONDUIT
¥ COPPERWELD GROUND i z
, — Y ROD TO OBTAIN 25 = ; I i SRS
2" PVC, SCH. 80 —— 5mm YELLOW COLORED PLASTIC OHM MAX. GROUND i : .C.
rPE \ 7 TAPE.  THREE INCH (3”) MIN. O-x
COMPACTED % WIDTH WITH CONTINUOUS METALLIC L z@ X )
ey 7 L BACKING AND CORROSION - 1/2” WEEP HOLE
K T  RESISTANT 1—mil FOIL—CORE IR
SEE NOTE 4 ———— 1T —h INSCRIBED WITH: | R QT TS BASE
3 |3 "CAUTION — ELECTRIC LINE BURIED ) - VNS
BELOW” IN BLACK LETTERING, 2” PVC SCH. 80 — APPROX.
REPEATED AT THIRTY SIX INCH (36") CONDUIT 22" SQ. T 227 DA,
INTERVALS
PLAN » SECTION A-A

[YPICAL DUCT SECTION
(DIRECT BURIED)

72”

12"

GRD. ROD

l 5/8% x 10-0"

CONCRETE FOUNDATION AND TRANSFORMER BASE DETAIL

SAW CUT PRIOR
10 TRENCHING

FIN. GRADE
SAW CUT PRIOR \

70 PAVING

TACK COAT/

PRIME COAT

TYPE "A” BACKFILL — EARTH & GRAVEL.

ROCK SIZE TO BE 1”7 & THE MIXTURE TO

CONTAIN NOT MORE THAN 50% BY VOLUME

OF ROCK PARTICLES. 95% COMPACTION.

24" MIN.

VARIES

PVC SCHD. 80 —~

CONCRETE — 3" ENCASEMENT, 2500 PS/

PLAN

ORIGINAL | SURVEY PLOTTED BY_

NOTE BOOK

No...

COMPRESSIVE STRENGTH @ 28 DAYS.

3”

3”

[YPICAL TRENCH DETAIL — STREET LIGHT

NOT TO SCALE

RECONSTRUCT PAVEMENT
EQUAL TO OR BETIER
THAN EXISTING

SAW CUT PRIOR
7O PAVING

=

1'—67~1'—6"

=

EYELET AND
DEADEND THIMBLE

ROUTE CONDS é N SUPPORT BRACKET

70 CLEAR
MESSENGER
HANGER

WITH 5/8°x12" CONDUCTORS

GALV. MACHINE
BOLT

O

THRU POLE

I
i
i

O

DEADEND POLE

FED. ROAD
DIST. NO.

STATE

PROJ. NO.

FISCAL
YEAR

SHEET
NO.

TOTAL
SHEETS

HAWAI

HAW.

93A-02-95

1996

13

3

, LENGTH AS SHOWN

| ON PLAN

180W LOW—-PRESSURE
SODIUM, 120V

ALUMINUM POLE W/

INTERNALLY MID.
VIBRATION DAMPER,
MUST WITHSTAND
100MPH WIND VELOCITY

30°-0"
MIN. HI. FROM STREET

IDENTIFICATION TAG,

—\

& BE FREE OF WHITE RUST

188" MIN. THK. WALL —~—~—\
SEE DEI. THIS SHEET —*———\

(¢

L

POLE HEIGHT

v

CAP

CONCRETE BASE —

[RAFFIC
ROADWAY | SHOULDER S FNISH
o [
R /
XK pres

[YPICAL LIGHT STANDARD INSTALLATION

WITH TRANSFORMER BASE

EXISTING

ALUMINUM POLE

GUARDRAIL
T
4
EXIST. GRD.X

TRANSFORMER BASE

L

—
——
. —
—~—

-—— CONCRETE
FOUNDATION

¥ — [F 2°=0" MIN. CAN NOT BE MAINTAINED DUE TO
CONFLICT WITH OTHER UTILITIES, COORDINATE FIELD
ADJUSTMENTS WITH ENGINEER.

HIGHWAY LIGHTING DETAIL

~ 5/8°x12" GALV.
MACHINE BOLT WITH
2 1/2" GALV.
SQUARE CURVED
WASHER

LICENSED
PROFESSIONAL

ENGINEER
No. 1887-E

THIS WORK WAS PREPARED BY ME

ALRIAL CABLE TERMINATION DETAILS

NOT TO SCALE

OR UNDER MY SUPERVISION AND
CONSTRUCTION OF THIS PROJECT
WILL BE UNDER MY OBSERVATION

HANDHOLE COVER ON
BACKSIDE OR ON SIDE
OPPOSITE OF ONCOMING

(K.TIN\FAR~HWY\DOT\ FAR~LTD3

May 9, 1986 10:35AM

DEPARTMENT

STATE OF HAWAI

HIGHWAYS DIVISION

HIGHWAY LIGHTING

OF TRANSPORTATION

[RANSFORMER _BASE POLE
FARRINGTON HIGHWAY LIGHTING IMPROVEMENTS

MAIPELA ST. 1O LUALEI PLACE

PROJECT NO. 93A - 02 - 95
SCALE: None

May, 1996

SHEET No. 18 OF 13 SHEETS

3




